
 

 

 

https://testzone.smartkeeda.com/Test/Pricing


 

 

Puzzle Test Questions for Bank Exams (SBI Clerk, IBPS 
Clerk, SBI PO Pre, IBPS PO Pre, IBPS SO Pre, & RRB Scale 
I Pre) 

Puzzle Test Quiz 52 

Directions: Study the following information carefully and answer the questions 

given below: 

Six Bride grooms Parbej, Quasar, Rayim, Saraf, Taarun and Udbhav married within a 

Year in the months February, April, July, September, November and December. The 

Brides are Aavya, Bansri, Carina, Daisha, Eiliyah and Faritha. All of them got married 

in different countries such as England, South Africa, New Zealand, Pakistan and 

Netherland. All the information is not necessarily in same order. The following are 

some facts about their marriages. 

Rayim’s wedding took place in South Africa, however he was not married Aavya or 

Faritha. 

Parbej’s wedding took place in Australia and Taarun’s wedding in New Zealand, but 

neither of them was married to Bansri or Daisha. 

The wedding in Netherland took in the month which has less number of days. 

The Bride Carina’s wedding took in the month of April, but not in Australia. 

Aavya and Eiliyah got married in February and November respectively and in South 

Africa and Netherland, but not necessarily in same order. 

Saraf's marriage was held in December. 

Udbhav was married to Bansri but not in July. 

Quasar marriage did not take place in neither New Zealand nor England. 

Daisha’s marriage took place in Pakistan. 

 



 

 

Question: 

1. Who among the following belongs to the pair whose marriage took 

place in England? 

A. Qusar      B. Udbhav      C. Saraf      D. Taarun      E. Parbej 

2. Who among the following is the spouse of the one whose marriage 

was held in July? 

A. Aavya      B. Bansri      C. Faritha      D. Eiliyah      E. Daisha 

3. If Carina is sister of Parbej, then which among the following places 

the marriage of Brother in law of Parbej took place? 

A. Australia      B. Pakistan     C. England     D. New Zealand     E. Cannot be determined 

4. Which of the following combinations is true? 

A. Parbej-Aavya-January-New Zealand 

B. Saraf-Daisha-December-Pakistan 

C. Udbhav-Eiliyah-September-Australia 

D. Quasar-Bansri-April-Netherland 

E. None of these 

5. Four of the following five are alike in a certain way and hence form 

a group. Which of the following does not belong to the group? 

A. Parbej-December      B. July-Daisha      C. Taarun-November      D. Rayim-September 

E. Quasar-April 

 

  



 

 

Correct Answers: 

1 2 3 4 5 
B C D B E 

 
Common Explanation 
  
References: 
  
Aavya and Eiliyah got married in February and November respectively and in South 
Africa and Netherland, but not necessarily in same order. 
  
Rayim’s wedding took place in South Africa, however he was not married Aavya or 
Faritha. 
  
The wedding in Netherland took in the month which has less number of days. 
  
Inference: 
  
Aavya got married in February and Eiliyah got married in November. Both of them 
marriage held in either South Africa or Netherland. [But we don’t the correct order] 
  
Rayim’s marriage held in South Africa, but he didn’t married Aavya or Faritha. Then 
he must marry Eiliyah. Thus Aavya marriage held in Netherland. 
  
The wedding in Netherland took in the month which has less number of days. [Only 
February has less number of days among given month-28 days] 
  
So in February Aavya got married in Netherland. 
  
Thus we get the table, 
 

 Bride Groom   Bride   Country  

 Rayim  Eiliyah   South Africa - November  

 
 
 
 
 



 

 

 Days  Month  Bride Groom  Bride  Country  

28  Febuary    Avaya   Netherland  

30 April       

31 July       

30  September        

30 November Rayim  Eiliyah   SouthAfrica  

31 December       

 
References: 
  
Saraf's marriage was held in December. 
 
The Bride Carina’s wedding took in the month of April, but not in Australia. 
  
Udbhav was married to Bansri but not in July. 
  
Inference: 
 
From this information, we get some couple as, 
 

 Bride Groom  Bride Country 

Rayim  Eiliyah   South Africa -November  

Udbhav Bansri July 

 
We get table as, 
 

 Days  Month  Bride Groom  Bride Country 

28 February   Avaya  Netherland  

30 April    Carina  Australia 

31 July       

30  September        

30 November Rayim Eiliyah SouthAfrica 

31 December Saraf     

 
References: 
  
Parbej’s wedding took place in Australia and Taarun’s wedding in New Zealand, but 
neither of them was married to Bansri or Daisha. 



 

 

Quasar marriage did not take place in neither New Zealand nor England. 
  
Daisha’s marriage took place in Pakistan. 
  
Inference: 
  
Remaining bride groom left is Parbej, Taarun & Quasar. 
  
Note: Carina marriage not held in Australia & Avaya Marriage held in Netherland. 
  
Then Parbej must marry Faritha whose marriage held in Australia. 
  
Similarly, Taarun must marry Carina whose marriage held in Newzeland 
  

 Bride Groom   Bride  Country  

Rayim Eiliyah  South Africa -November  

Udbhav Bansri July 

Parbej 
 Avaya & Carina  

 Faritha 
Australia 

Taarun 
Avaya & Daisha 

Carina 
New Zealand 

  Daisha Pakistan 

 
Based on this couple information, we fill the Table as, 
  
Note: We have July &, September (full slots) & it filled by Udbhav, and Parbej couple. 
  
So Saraf must marry Daisha whose marriage held in Pakistan. 
  
Thus, Quasar must marry Avaya whose marriage held in Netherland. 
 

 Days  Month  Bride Groom  Bride Country 

28 February Quasar Avaya Netherland 

30 April Taarun  Carina   New Zealand  

31 July       

30  September        

30 November Rayim Eiliyah SouthAfrica 

31 December Saraf Daisha Pakistan 



 

 

Udbhav marriage not in July, then it must be in September month held in England 
and Parbej marriage held in July month. 
 
Thus final Table, 
 

 Days  Month  Bride Groom  Bride Country 

28 February Quasar Avaya Netherland 

30 April Taarun Carina  New Zealand  

31 July Parbej  Faritha  Australia 

30  September  Udbhav Bansri England 

30 November Rayim Eiliyah South Africa 

31 December Saraf Daisha Pakistan 

 

  



 

 

Answer: 

1. 

Following the common explanation, we get "Udbhav-Bansri-September-England". 

Hence, option B is correct. 

2. 

Following the common explanation, we get "Faritha-Parbej-July-Australia". 

Hence, option C is correct. 

3. 

Following the common explanation, we get "Carina-Taarun-April-New Zealand". 

If Carina is sister of Parbej, then Taarun is the brother in law of Parbej. 

Hence, option D is correct. 

4. 

Following the common explanation, we get "Saraf-Daisha-December-Pakistan as the 

true combination." 

Hence, option B is correct. 

5. 

Following the common explanation, we get "Quasar-28 days, April-30 days". 

Remaining options are paired with the month which has same days as their original 

month of marriage. 

Whereas Quasar is paired with the month of April which has 30 days while his 

original month of marriage i.e. February has 28 days only. 

Hence, option E is correct. 
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